Spot the mistake

6 4=22

Can you identify what the
mistake is here and
what should have happened
to complete the number

sentence accurately.

O

Spot the mistake

6 4=-2

Can you identify what the
mistake is here and
what should have happened
to complete the number
sentence accurately.

O

Spot the mistake

6 4=22

Can you identify what the
mistake is here and
what should have happened
to complete the number
sentence accurately.

O

Spot the mistake

6 h=-D

Can you identify what the
mistake is here and
what should have happened
to complete the number
sentence accurately.

O




Spot the mistake answer

The answer to the number
sentence gives an answer where
the number has been added
rather than subtracted.
Therefore the answer should be
~10
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